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5 (s At HEE aE HE |uw  HE s | wEs | aE | mE || #E
RERFREZ x5 J=xz  [@Esas ke & 100
Eih HErE g HE |[mel HEO|EE I FEa45h 100( kg 1,900 ke
RIF fiftE s £ 1773k 200| {& T2 1] B 5755 150| ke
FE mARE KF4794k 500 {& ZH EET 9 200| ke A%t 100
BH B8 YN A5A & PN 150( kg 4,750 kg
BRS wRTot T YH¥N"15k 100| {& B 1,350 ke 5,680 {&
Ei& B TV e & 1,100 &
B 800 & nEE 4,500 X &EFER
kS Bt HEE a1 HE |uwe (EE
f&fm Easn #9754 100| &
Eih HErE pt = |[Ee  FE EE5 300| &
RIF L/ (EFRL 7705 100| {& ZR 1A 100| {&
R gLy 5t 200 & IhgH K15 900| {&
&R AR ANAMH BT Y5 200| {& SEEI A9 700| kg
PN 7o) S [ S ) 100| {& F= o #9354 150( &
=R 7. 7744 800| {& bS] 100| 4@
EE ANSYY) 100| {& B FETig) 8 150| f&
E 0 150| {& HE 100| {8
IMER BHRs & B WUt EVES ) 100| f&
X9 EERES ([ AKTIAS 100 {& R IWEE Lyask 110( &
e N3{h5t & A Shrya- 445 100| {&
Yt 4454 100| {& I =R i &
REXR J=F|4)) WA AN & g 700 kg
/N EX 44. Fa5+ 300| {& 2,210 {&
B 2,150 {&
HIER
AR Eit HEE it = |ue| (EE
FEHh HErE i BE |mal HE|REES bi7::0) 8 =244 4,000| #&
Ei& ) 14% 150 {& ERBN |=3#4 -7V 500( A&
i85 FAhyt st & HiEs EEIA 100| &
R 4, ¥)4hst 100| {& Figs st ENTT 300| &
AR eV & ;7.8 ERN BTV 500| #
BE5 VTV 100| {& 8= Alls {7 800 kg
HEHEA YR5+ & K45 RS #5977 200| &
x5 it 3 75 70| & g 800 kg
X 5= 44 . 4R35 100| & 1,100 Z&
=5 JFE I AAKSN & 4500 #
B 520 {&
AR Bt HEE g HE |uwe (EE
E HEE Rz = |He| FE O |[EES 5= 7Ot 100( kg
FI& = E4H 150| kg 30 RS HH'T 700| ke
Bk EETRS ke REA S =Hst TH) 700| ke
B st SEAR R 100| kg Ra5n EEN s 200| kg
IMEE SEETA 150| kg FEHN B®EN pd=l 100| ke
At+hB  |iE235 ke -E| AdtH =k =3 100( ke
FER EVI7T 5 100 kg agst AKESN |EIE 100
& ETHY 50| kg
N ) EENIY 200| kg
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